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1. When marginal revenue eguals price for all levels of outpm; the firm 1s operanng 11 a perfectly competitive market.
a True b False

2. Which of the following statements about perfectly competitive markets is ! correct?

a  Inthe short run, firms can earm economic profits o suffer econemic losses.
b. The market demand curve is downward sloping.
c. The demand curve facing an individuzal firm is perfectly elastic.
d  Inthe long run, fitms can earn economic profits or suffer economic losses.
¢. Inthe long rup, firms can enter or exit the market,
. In 1985, Alicc paid $20,000 for an option to purchase tan acres ofland By paying the $20,000,
she Bought e right 10 buy the land for $100;000 in 1992, When she acquired the opticn in
1983, the land was worth $120,000. In 1992, it is worth $110,000. Should Alice exercise the
option and pay $1 00,000 for the fand? :
& Yes. B No. ¢ It depends on what the rets of inflation was berween 1983 and 1992, 4 It depends an what the mte of
irterast was,

4. Brittarny provides manicires at the only salon in town. Her marginal cost is constant at $5 per client, her fixed cost i3
325 per day, and she is able to do 8§ manicures per day. On a miven day, half of her clients are willing to pay 515 fora
manicure; half are willing to pay only $10. If she charges 515 for those willing To pay a higher price and 310 to her
other chients, then her maximum daily profit equals
a 355 Db.%I00 c.350 d.$35 e 875

5, ‘Which of the following changes winld inorease the present vaiue of a future payment?

a decrease in the size of the payment

a decrease in the certainty of the payment actually being received

an increase in the amount of time that elapses before receiving the payment

a decrease in the imterest mie

none of the above

6. Perfec’t plantmg. and harvesting weather results in a record high crop of wheat. [f wheat growers experience an
increase in total sales revenue, then the demand for wheat must be
a. price-inglastic  b. unitary elastic ¢ perfectly inelastic  d. price-elastic  e. perfeetly elastic

7. Suppose that sntry of new firms mto an industry significantly inereases the market demand for 2 key input. If supply
of the key input is very price inelastic, then, for each firm in the indusiry in the long run,

external diseconomigs shift its entire ATC curve upward

externz] econornies shift its entire ATC curve downward

external diseconomies move it to the lef along its original ATC curve
. diseconomies of scate shift its emire ATC curve upward

economies of scale shift its entire ATC curve downward

f‘a non-discriminating monopoiist decides 1o lower 15 price to sell one more unit of its produet, then

totl revenue rises by #n amount equal to the price

some revenug 13 Jost te the extent that units previously soid at a higher price now sell for a

lower price; however, the additional unit sold brings in new revenue

¢. marginal revenue increzses when total reveniee inereases
d. the net effect on total revenue is typically zere since the price must fatl
2. the net effect on total revenus {s typically negative since the price must fall

9. Which of the follawing 13 true for 2 monopohist that does not price disciminats?

P > MR because some reverue is lost from having te lower the price on all units sald
P < MR becguse the monopolist must jower pﬁce to ssll more output
P = MR only at the profit-maximizing level of outpur
P = MR because there are no close substitutes for the good
P =MR because the firm faces a perfectly elastic demand curve
market fatlure occurs when
a market equilibritn is economically inefficient
a market equilibrium is economically efficient
parfect competiion maximizes the sum of consumer and producer surplus
crime is not completely eliminated
involumtaty exchanges are not completely eliminated
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1t. Suppose that population grows by 2 percent annuatly. For the standard of living to rise, which of the following must
ogcur?
a. Nomine! GDP must grow by more than 2 percent.
b. Real GDP musi prow by more than 2 percent.
¢. Real GDP per capita must grew by more than 2 percent.
d. Consumpfion spending maust grow by more than 2 pereent
e. Private investment spending must grow by more than 2 percent.
12. If the Consumer Price Index (CPI) increases from 100 to 12§ and the norinal wage inereases from $125 10 $300,
what iz the change in the real wage? :
2. <5175 b.+$300 ¢ %125 4. +ELE5 e -B1TS
13. If an ecomomy's consumption spending is §3 trillion, investment is $2 trillion, government spending is $1 willion, net
taxes are §1 trillion and heusehold saving is 52 trillion, total income is
2 F3tmllion b.35tmllien ¢ §7tillien 4,58 rillion e 311 wiliion
14. If met taxes decrease by $100 billion and the result is an increase in GDP of $300 billion, what is the marginal
propensity to consume?
a 075 k.30 c.066 4.0350 e 033
15. Using the fallowing information on a hypothetical econumy in equilibrium, caleulate total output for 2008.
Consumption Spending : $3.5 tnlkion
INet Taxes $2.7 tnillion
[Househald Saving $2.5 friliion
Investment Spending §2.2 trillion)
Government Purchases $3.40 million)
If exports are exactly equal te imports, total output for 2008 is
a. $52million  b.$5.7tllion ¢ 8.4 willion d. $8.7 wilken e $13.9 wrillion
16. A debt that rises faster than nominal GDP will impose the following opportunity costs in the fiuture:
a. A permanently higher tax burden,
b. A period of inflation.
c. Reduced government outlays relative to GIYP
d. Higher taxes relative to GDP.
e. All of the above.
17. M the Fed wishes to increase the interest rade, it can do $0 by
a seling bonds
b. buying bonds
¢. ingreasing the money supply
d. settingza higher prime lending rate
e. encouraging the public to buy bonds
18, Aftera negamre dernand sheck, what are the expected long-fun adjustments?
2. Wagesrise, price leve] rises, and ourput falls back to potential
b. Wages fall. price level rises, and output falis back to potential
¢, Wages fall, price level falls, and ourput increases back to potentiat
d. Wages fall, priee level rises, and owput increases back (o potential
e. Wages rise, price tevel falls, and output increases back to potemtial
19, Which of the following {s a reason why the money demand curve might shift?
2. an increase in the interest rate
b. achanpe in the money supply
¢. open market purchases of bonds by the Federal Reserve
d.  changes in the required reserve ratio
e. new methods of making payments that replace money
20. When a foreign currency ¢nisis oceurs, there is a(n} int the supply of the currency and a{n} _im

the demand for that currency.
werease; increase
decreass; decrease
increass; decrease
decrease; INcrease
increase; no change
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11, Problem {40%)

1. Richard is a stock market day trader. His willity of wealth function is Uw) = 4 { ——1". Richard
has seen a recent upward trend in the price of Yahoo stock. He feels that there is 2 30% chance the
stock will rise from $375 per share to $225. Otherwise, he believes the stock will settle to about
$150 per share. Richard’s current wealth is $1.75 million. Assume that'if Richard purchases the
stock, he will use his entire wealth. Given his risk preferences, will Richard buy Yehoo? (10%)

2. Wiz-Bang Games is a new video pame maker for the latest game console. As & new game maker,
they have not established a repatation of providing quelity games. The marginal cost to Wiz-Bang |
for manufacturing games is: MC(G) = 0.050. The market price for low-quality games is $20. The
market price for high-quality games is $65. If Wiz-Baug sells their product in the low quality mar-
ket, calculate their producer surplus. If Wiz-Bang sells their product in the high quality market,
caiculate their producer surplus. If Wiz-Bang spends $12,500 on marketing and packaging, they
will be perceived as a high quality producer of video games. Should Wiz-Bang spend the $12,500
to provide a sigual 1o video game consumers of producing high quality games? (10%)

3. Let the following represent the structurs of a large open economy with & fixed exchange rate:
C=Cat+ 06(Y-T)
Ca = 300-3r
T = 1000
(MPY’ =0.2Y-10r
MS/P = 1000
Ip = 1000-20r
G=13000
NX = 1000-0.1Y-500e
(1) Initially let foreign and domestic interest rates be equal so that r = t" and let the foreign exchange -
rate e=2., Find the 15 and LM equations. (3%)
(2} Show that the share of physical capital in output is 1/3 and the share of human capital in output 18
1/6. (Assume that each factor is paid its marginal product) (3%)
{3) Suppose the balance of payments (BOP} is zero if Y and r satisfy: /=-101+0.02*Y. Calcuiate the new
level of equilibrium output, the interest rate, and the money supply after an increase of autonomous
consumption by 100, {so that now C,, = 600-37) (4%;)

4, Consider an economy characterized by the following production function ¥ = 4K'“H*N"?,
where K represents physical capital, A is human capital and N is labor. Assame that the growth
rate of labor rz=1(.05, the depreciation rate o =0.05 (both physical and human capital depreci-
ate at the same rate) and A=1, Investment [ is the sum of two components, investment in physi-
cal capital 7, and investment in buman capital 7, . The fraction of GDF that goes to physical
capital investment is 5, =0.2 and the fraction of GDP that goes t human capital investment is
5, =02

{1} Derive an expression for the marginal product of physical capital ( A4F, ) and the margina! product

of human capital (MF, } (4%}
(2) Show that the share of physical capital in output is 1/3 and the share of human capital in output is
1/6. (Assume that each factor is paid its margina! preduct) (3%)

' H
{3) Convert the production function te a functien relating % to hoth % and 7 frite down the

equations characterizing the steady state physical capital - labar ratio [-i\—r) and the steady state hu-

i

man capital — labor ratio (%). {3%)
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